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bxb=____

97 +20 = ____
790 + ____ = 800
6x 10 =____
8x8=____
76+ ____ =80
51+ 60 = ____
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32 pour aller a 40
75+ 60 = ____
620 + ____ = 700
16 x 1000 = ____
Le double de 110 est -
I9x9=____

95+ ____ =100

90 + 10 = ____

390 pour aller a 400 - ____
13 x 100 =
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8xb=____

66 pour aller a 70 - ____
53+ 90 = ____

160 + ____ =200
2x10=____

9x7=____
5+ ____ =20

71+ 50 = ____
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45 pour aller & 50 - ____
39 + 60 = ____

450 + ____ =500

15 x 1000 = ____

Le double de 120 est - ____
I9x9=____

31+ ____ =40

79 +50 = ____

570 pour aller & 600 - ____
17 x 100 =

Réponses
col 1 col 2
24 8
3 135
117 80
10 16000
60 220
180 81
64 5
4 100
111 10
20 1300
Réponses
col 1 col 2
48 5
4 99
143 50
40 15000
120 240
120 81
63 9
5 129
121 30
20 1700
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